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Logarithms Practice

Do Now: Solve the following equations.
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Solve the following equations.

1) log(x — 2) — log(x + 2) = log(x — 1) — log(x + 7) 2) In(2x2) + In(x? + 10) = In(3x* + 27x2 — 8)
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6) If a > 1, sketch the f ?wmg graphs WITHOUT A CALCULATOR:

5) Solve for t in the equation

a) f(x) =log, x b) f(x) = log1 x
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7) Given the exponential function, 7°*~1 = 10* + 7, how does taking the logarithm of each side of the
equation allow you to find the solution? Use complete sentences.

8) Pierson invests $10,000 in a savings account that is compounded continuously using the equation
A = 10,0005t where A is the amount of money Pierson has in his savings account after t years.
Pierson will not deposit or withdrawal any of his money.

a) What is the amount; Pierson’s savings account a%r 18 years?

A =10,000¢>(1? [5‘2‘!5‘76.03l
A=2459.031116 —

b) How many yearg will it take Pierson to save $15,000? (Round to the nearest day).

15000=1000¢ hlL5=005%

15= e cnbs
b5 ine T* ey 01670 UGG
Solve the following equations. "- % ‘01 307\‘ 62-‘ 6 X 3‘ s-

9) 7%~ +2=7456 10) 53 -5 =15 +1°x‘.|o 31 1526t

ﬁv*-s 7959 ( 5 03!0\3

T 0745 Y g Z,‘f
7)("5' 7454 3 5'-x( \5' 3 ,
7x= (7454 x(3\o 5-!@93" \Ol ""5 0g5"

X = M7'—l6“-l |5~
3 loif 'Oﬁls-




Solve the following equations.

11) log,(2x* + 3x + 40) —log, (2x* + x) =2 12)log(h + 5) + log(h — 2) = log(—5h + 10)( “ i
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13) In(x3 + 64) — In(x? — 4x + 16) = In(2x) 14) log(x + 1) +log(x + 7) = log(x> — 5x2¢ 19x + 1)
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Evaluate the following without using a calculator.
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Find the inverse of the following functions.

a) g(x) —log(x-7)

b) h(x) = log(x + 2) 9
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19) Describe how f(x) = log x changes to form each of the following equations:

c)](x =—loglx—1)+1 e
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Rewrite each of the following logarithms using the Change of Base Formula, then

20) log4 21) log, . 120
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Solve the following equations.

23) log, (x) + logz(x2 +8x—4)=5

|¢,31(x3+‘6x‘-'-lx\=5

x>+ Bx-Yx=3L
xCrgx*-4x-32=0
;("(X*%\ 4(x+8)=0
x+2)-O
(x+1 ' A
=¥ | %= 3

hock:
lojz'{-%&h? ( )"@('Q 4 S_

log (7-'3*{031 z‘+8}3~‘0“
‘,) (‘8}*/.), ((“8’)*8()?\ 9:=<
14)13( — 1) — log, (x* + 5) =log,(x — 1)

$13 _
loa, \ 5 T ¥




2{) ) loga (2%) + log1_12(x3 — 1.5x2 — 28x + 90) = —2
bq, (23 - 56 +1808) =~

(&)= A 35 "+lg0x
iy =2x1-3 3-8k +I%0X

yod -3x3-56€'w/w\\

e B L s >
v | -4 17 O _C_LLEE : __
byt 7—\"\1.,('2' \5(7»\'13‘(3*‘10\=-1

4 g ] 54 7Tl o NS 0-2
Vg 36 m0 s (e
2 9 -1¥ O v S‘MD;H'\* b qu\{bi(%‘mﬂ

gy 0 D 87

21x*+rJx~18 =O
2%+ 12x~-3%x~18 =O
2x(r+6)-'3(7£+6\:0

X+G =
X=-G@ | x=%¥2






